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ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. What is the effect of temperature on extrinsic
semiconductor?

2. A single phase full wave rectifier uses two diodes, the
internal resistance of each being 20 ohms, the transformer
RMS secondary voltage from centre tap to each end of
secondary is 50 V and the load resistance is 980 ohms.
Find the RMS load current?

3. Ina JFET the drain current is changed by 0.25 mA, when
the gate —source voltage is changed by 0.125 volt, keeping
the drain source voltage constant calculate the
transconductance of a given FET?

4. Qive the advantages of negative feedback?

5. Reduce the following expression using Boolean algebra
postulates F=(A+B)' (A"+B"’

6. What is a min-term and max-term?
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Data byte 28H is stored in a register B and data bite 97TH
is stored in the accumulator. Show the contents of register
B and C in the accumulator after the execution of the
following two instructions

MOV A B
MOV CA

Why are the program counter and stack pointer 16 bit
registers?

Differentiate absolute and partial decoding.

How does a microprocessor differentiate whether it is
reading from a memory mapped input port or from
memory?

PART-B (5x16=80 marks)

(a) What is an ideal diode and the sketch the (16)
characteristics of the ideal diode? Explain the
formation of potential barrier across PN
junction and the working of a PN junction
under forward bias and reverse bias with its V-

I characteristics?

Or

() Draw the circuit diagram of a full wave (16)
rectifier and discuss the working of it.
Calculate Ide, Irus, ripple factor, efficiency of
rectification and PIV rating of diode?

(a) BExplain the basic construction of SCR and (16)

principle of operation with its characteristics
and discuss its two transistor analogy?
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Or

()] Why CE configuration is mainly used?
Discuss its input and  output
characteristics and analyse the output
characteristics in 3 different regions?

(i) Compare avalanche breakdown and
zener breakdown?

What is the primary -advantage of a
asynchronous countér. Design an MOD 6
synchronous counter?

Or
(i)  Show that
(a) AB+tAC+BC'=AC+BC
(b) (A+B) (&' +() = AC+A'B

(i)  Design a full adder using the basic logic
gates and explain its operation?

Explain the architecture of a INTEL 8085
microprocessor with a neat block diagram and
bring out its salient features?

Or

@ Write an ALP to generate resultant byte
whose 7t bit is given by A=Az BAs Ae.

(i)  Explain the following instruction of 8085
and also mention about the addressing
mode and flage relevant to the
instruction.

(12}

@

(16)

®)

®

(16)

®)

®)
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(a)

(b)

LHLD 1000H
DADD
PUSH PSW
RAL

Explain  in  detail the application of
microprocessor in Stepper motor and also
write the subroutine for rotating the stepper
motor in clockwise and anticlockwise direction.

Or
Explain  in  detail the application of ¢

microprocessor for temperature control and
also write the subroutine for it.
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